# Vertical Division with a Helper Grid Name:
Solve each problem. Answers

1) 2) 3)

94701 4[804 6[2'55 t

4) 5) 6)

4[89/6 7[8/12 2[574'8 N

7) 8) 9)

9|591 2|299 6|948
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Vertical Division with aHelper Grid Name: Answer Key
Solve each problem. Answers
iy 4145 2 2/01 3) 4(2/r3 . 4415
9l4/01 4(80 4 6(2/55
36 ksl 214 , 201
41 0 1|5
ﬁ 1_2 3. 4213
5 3
4 224
5. 116
6. 274
H 224 5 [1]1]6 6 274 . Gor0
418/9 6 718/1 2 2(54/8 e 14911
8 7 4
09 1/1 1|4 9 158
_8 7 14
1/6 42 08
16 42 _8
0 0 0
7) 656 8 149 9 158
9]591 2[2/9/9 6[9/4'8
54 28 6
51 1/9 34
45 18 30
6 1 48
48
0
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